- ®
Kﬁ PR®DUCTS

WD3KR
KammRack

Instruclions

[cm{ CRASH (,,)}

According to 1ISO/ PAS 11154:2006

WD3KR_b rhinoproducts.co.uk



WD3KR:

Fiat Doblo 2010-

Vauxhall Combo 2012 - 2018

KammRack

C04 x6

SA397U x 3[ | SA398U x 3| SA429 [ |

K575

PS519 x 1 [ |

ASFx1 [ ]

5

EXT15-02x2 [ | SA437 x 1[ |

2 WD3KR_b



PS176 x 4 [ ] PS178 x 2 [ ] PS030 x 4 [ | PS031 x4 [ ]

(
4
[

= FS042
= (M6 x 40) x 4

[

FWO001 (M6) x 10 FWO008 (M6) x 10 FTO1 x 1 [ |

FS039 FS038
(M6 x 30) x 2 (M6 x 25) x 2

[] []

FB007
(M6 x 45) x 4

[

FS059 [ |
(M8 x 25) x 16 FTO5 x 1[ |

FNO85 x 16 |

WD3KR_b 3



b_
0©
4
(]
=]
= =
= =)
() m 0 N
0 = 0 o
2 g0
) o L
0
~
-
'
o
@ ®
(1
VPR
7 ALY | ® @
-
®
o
0
m =
R~
- )
e 3
(/)
1
<



:
E o
g m :
< E x
x g s
© S =
= < :
X N~
: 2 2
! " 0
X ™
o m
© ~
- S
= 0
o .
1
1
-
3 8 5
N o © ©
X A W S
- i L
0
o m m
g &
=) %
X s
©
— s m
+ o
1 o ™
n X
» =
[+ 4] -
o - S o o
o o © ©o
v g E

WD3KR_b



MAXI PS031 x 2 + M6 x 25mm

WD3KR_b



K602- Combo/Doblo 2010- L1, Twin Doors

6 mmm 100kg < T -
v =
e - — 2
27kg/60lbs b 43%0mm

K603- Combo/Doblo 2011- Maxi, Twin Doors

@ 100kg - : B

—— 3105 mm
- 4740 mm ——

=

WD3KR_b



> EXT15-02

F = ."5".\,
r.-' '—.’.___,__.1 -
e V.
== 2 :__
— 7—%_:_ ——
=

8 WD3KR_b




WD3KR_b 9



30.

31.

@

CLICK!

~, A

PS519

10

CLICK!

WD3KR_b




36. 37.

WD3KR_b 11



N
\\ UK +44 (0) 151 319 2931 [@] rhinoproducts.co.uk L] saleserhinoproducts.co.uk

1 2 Manuf ed by Rhino Prod Ltd in the United Kingdom. WDSKR_b

Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



